P AAZR—Y WM - BT = Ak S

2onexmem ¥ 7 ILRKER

(H20222FRKREEE X PER)

202246 A 19H

3R M 17 N
L7Y— . 2 BE

RBY—5 - F—F AL

F-=A2—p

—RBF #ITFER Hb—F Ak
» 1 2 3 B {3 D E F G H » ME g —| o1
1| @ BREGHLHCT) 60 62 20 1 B0l H1x2 | LWIx2 | 31x2 | x1x2 | %3x4 22 EE i | 15
2| za BEGHBHET) | 06 2 02 3 B g1x2 | Mx2 | #1x2 | $H2x3 | 112x3 - 5 W EE — 64
3| TREXMGYLF—X) | 26 62 1 2 0 32x3 | x1x3 | x2x4 | H2x3 | ;H2x3 2 21 YIRS — 76(7)
T #9x3 | #3x1 | L8x1 | 33x1 | #H3x1 5 [N M@ #E 4'—‘
[ 1 2 3 B | JEL TR n3x1 | #3x1 1 2 3 :JL 26 h—FAb
1| FIE HE@BHHEHAET) 62 61 20 1 1240 4 5 |#Owxn|HeBxs ;; » E: N —‘¢
2 &K $H(Y-) 26 26 02 3 £ 6 T |#EGBXD | HDOHXE k 3 HF A E— 63
3 BT $EHR(TY—) 16 62 11 2 1 8 9 |monxE|Eonxs | z il R 61
110 10 |#OExs| HOE xH| #OE XS + L D R
5 1 2 3 BB | IEf A 3fEb—F AVb
1 #F BAAAA) 76(5) | 06 1 2 V) » Zh BE 61
2| MR HBHEAHCT) 67(5) 36 02 3 [ 5 INE % 6(5)
3 | BR#P EH(renr=zI54) 60 63 20 1 z win EE  E— 61
w AKX I EEE————
% 1 2 3 4 e | IE
1] Bl BECZFFIL) 61 | o4 20 | 1 z
2| B ERGHLHET) 16 06 02 4 24
3 EE EH(oY—) 46 61 11 2 2 7R
4| BN RGYrE—X) 60 16 11 3 z ‘
#ERT * qz " #EBT
5 1 2 3 | mE | E A l 1y—2 5 ) x B | W
1 KB FIFEINOC-D) 46 64 1 2 i *n ,# ] HE EM 76(2) 61 20 1
2 | &E EMHBEHGC) 64 76(5) | 20 1 b2 mn \WiFE E 67(2) 63 11 2
3| EBR FM(SEXY'S-T) 46 | 6705 2 3 o i * D B 16 36 2 3
& =
& 5B
n 1 2 3 BB | IER = t E3 2tay—4 & n £ B JE
1 Wik EHH(7Y-) 60 63 20 1 = ® S KB AR 63 36 11 2
2 B £E(0Y-) 60 36 2 3 #% B n @ = 36 36 02 3
3| ®E FEEST—L) 36 63 1 2 bl E 1 £ #E BE 63 63 20 1
% — I
= 1 2 3 | mE | m ! 'U g 3ta—7 s » = B [
1| L B(HEEHAT) 63 64 20 1 S R K 61 60 20 1
2 B S (triumph) 36 26 02 3 N BH £T 16 60 11 2
3| @M R%(TeamCQ-C) 46 62 1 2 & B B RET RET 3




